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5. 126 x 4="504 miles detective to gain
210126 =84 miles gained by dotective in one day
1 LY (1] Y ‘" [} 4"
504 13 it [ “ [} ﬂs &
Then 44-6=10 duys prisoner at liberty Ans.
8 x 100==300 min. in going from Ottawa to Montreal,
In 5 sec. 1 telegraph polo 13 passed
¢ 1min 12 ¢ poles ¢ ¢
* 300 ¢ 3600 ¢ poles ** **  Ans,
7. G. C. M. of §3.60 and §6.80=20c. cost of each luncheon
$8.60+20==43 luncheons for boys
$0.80-+-20=3¢ *girls
and since Jumes and Lucy were of the party
42 boys and 33 girls were invited Ans,

8. 100 bus=5xx cub. ft.
1 4 ==3X8XE (YRS

750 v -_-_—_6451;:,)-':{\‘.‘5_1'.“ «
~height of bin=1s3i3z7s0o (104 % 128)=4{§5xfFzifo =12

¢ = G days

=3

9. 5 x44 x50:=211,000 possible days of attendance
2500+2= 1,250 duys of absenco
11,000 ~ 1,260=9,750 days really attended
0444 =220 days each child could have attended
< 9700-+220=44,, averago daily attendance Ans.
10. Suppote widow received 6 shares, then a daughter recceived
3 shares, and a son 4 shares.
Hence whole number shares=06-4-3 x 4 4-4 x 3=30.
Then 3 shares=81,800 ..30 shares, ur part property=318,000.
Since g% was deducted for expenses
2% of property =518,000  property=3818,750 Ans.
11, Father and son do work in 9 x 8=T2 hour,
and .5 times the work in 72 x 5=2360 hours.
1 hour by the father=2 hours by the son.
.0.360 113 " (13 13 =720 113 " ({3
~.son does b times the work in 360 1 720=1,080 hours,
which==1,080-: 90=12 hours per day Ans.
12, §2.50=§--1=4% of cost price
$1.00= x-o:.SU @ Y3
S3.00=§E$_t,‘,{8 o4 st ==2% of cost price.
. gains »5 of cost Ans.
13. When James gets 8 marbles
John ** §x3=12 marbles
Tom  “ R x5=30 s
Alex. ¢ 30-xT=105 *
Then of 84124-304-105=155 murbles James gets 8

~of 1 % Jones *“ 8y
sof 620 ¢ James ‘¢ 32
“ 620 John ‘¢ 48
€620 ¢ Tom «190( Ane
620 ¢ Alex. *“420
14 Iud hours A does work. Again in 6 hours B does work.
‘1 hour A does } work, *“ 1 hour Bdoes} work.

¢ 1}hoursA ¢ L o« ‘“ 2) hours B
A m)dCB do }+y;=3% of work Ans. ..there remains 33 of work
for C. )
C does the work in 8 hours.
<:C ¢ 13 ¢4 2513 hours=2} hours. Aus.
15. Board of 4 women=board of 3 men.

@ 7 «
1

o ¢ 1woman= I S
Bouard of 5 children=board of 3 men,
“ 1child = AL
¢ 4 children= Qs u

Bo.a.xl;'l‘?of 1 man, s wifo and 5 children=board of 14+3423=
F5 men.

Then since board of 3 men for 1 week4-87.20

“ lman t1 ¢ 29

), b

“dipymen 1 ¢ = Lpoxves
1 4;:;6 @ 13 ¢ = 7:-_.0;,()(,.2:,0,9.:1
=8129.48 Aus.

16. Aownsyy. .~ Bowns]¢ . Differenco= %
3 of Jr=y% of plot=42 bush. 2 pks.==42} bush.
~3¢ ¢ =420 x10=425 bush. to B. Ans.
17. 9 times §g:§'?of4}—»-l==9 X g Xt x 4 x01=9
M 82-}-5% 72 ) WIAT R Tl— acres.
15 of Jg-yfyof GZ=3xEx W x =} ac. and 9-}=530 ac.
remainder. -
Now 1 ac. =3650 guineas.
- 3P ac.==3650 x 26 guincas.
=26 x 3650 x 26 shillings.

=241 % 21 x 8650 x 26 conts.
=2484.939 Ans.
18. 2 (width xlength) =2 x § length="1%2 length=112 feot.
~length=35 ft, °
and hence breadth=3 of 35=21 ft.

873c. X4y X Arx 11‘1"—35—"?5=s122.50 cost of 21 inch carpet.

a5
125 x Jy x gy x 14~ ‘1’21?1=3105.00 “ogs o«
Then $122.50 ~ $106=517.50 difference in cost. Ans,
19. He sells \% of his intorest .. % of it left.
Then % of $=3§="3006122+ Ans.
20. 420=y4%5=17% examined in Arithmetic. .
'é7=:f:-'=]nr * s History.
1469 =k383 =% “ * Grammar.
Then 1§+ %+ dWo==2%F examined in Arith., Hist. and Gram,
. g —_

h)
. 384 .- 333 =341 of the number=41.
4~ =y »» number=264 Ans,
21. 20%gain=$ of cost ; 307 guin==}§ of cost ; and 33} gain=
3 of cost.
roceries=} of sales=§ x } = of cost.
Boots and Shoes=3 of sales=}3§ x =3} of cost.
s Dry Goods=3}} of sales=4§ x ;=11 of cost.
5 All sales=P5+33 +13=18$ of cost=829,100.
o cost=822,500.
Hence 29,100 - 22,600= 86,600 gain for the year Ana.
22. 1 barrel=56 gal. 448 pints, & cents +448=¢22.40 sold for
o 22.40 -12.20=3810.20 gain.
Then on $12.20 the gain=%$10.20
(13 122 " (13 = 102

[} 1 [ [ —

= {92
I} 100 «“ & ..___1&;:,.539 =833;
~. gain =833 per cont. Ans.
23. January 17th, 1884, to January 17th, 1885=366 days,

January 17th, 1883, to March 14th, 1885=056 days,
~ 366+ 56=422 days money in Bank.
Interest on 8100 for 1 year or 366 days=84

s “ 100 ¢ 1day=gdx

119 114 1 &« 1 [ =lm‘%xm6
€ e 1% 402 days=,358¢3y
L 20440 for 422 daysm e X 20440

363 x 100
=9.45 .
Wherefore sho should receive 204.40=9.45.75=58213.85,5 Ans,
24. 5 cows for 6 weeks=30 cows for 1 week.
4 13 7 (13 =28 [13 1 ¢
3 £ 8 114 =24 {3 ] 13
2 13 9 13 = 18 4t 1 (Y3
AN=30 % 28 % 24 x 18=100 cows for 1 week.
. First man should pay {5 of $456==818.50.
Second X S ¢ 46= 12.60.
Third o Yoy ¢ 4b= 10.80,
Fourth ¢ 5 ¢ do= 8.10.
25. A thousand of lumber=1,000 sq. ft. 1 inch thick.
1 mile on each side=3} mile on both=2,640 ft.
3640 x4 x 3=81680 aq. ft. of surface 1 inch thick.
Now 1,000 ft. =88 .
- 31,680 ft. =8253.44. Anas.
26, Distance round the earth=300 degrecs.
distance from equator to north polo=90 degrees.
width of North Frigid Zone=23} degrees.
width of north half of Torrid Zone=234 degrees.
~width of North Temperate Zone=90 - (23} + 284) =43 degrees.
which is ;4% of tho distance round the earth. Ans.
27. 33+33+18+18=102 feet round room.
102 x 11=1122 sq. ft. in walls.
33%18= 594 sq. ft. in ceiling.
7 - 13=>5} ft. height of doors above wainscoting.
102 x1§=153 sq. ft. allowed for wainscoling and lower part of
doors.
54 x 31 x 2==38} 8q. ft. allowed for doors above wainscoting.
6 x 3% x 6=126 sq. ft. allowed for windows.
1398}
9

Ans.

5 (1122 594) - (153438} +126)=1398} 8q. ft.==——"8q. yards

of plastering.

18c. xglﬂ’i’.*.—.szmz An3!
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